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Surname and Name:



Matricula:                                                                 

1) A noise source has a pink spectrum, covering the 10 octave bands of 31.5 up to 16 kHz. The total SPL in dB(Lin), is 90+F dB. Compute the SPL in the octave band of 1 kHz :
 









L1kHz =                                 dB

2) A noise source has a white spectrum, covering the 10 octave bands of 31.5 up to 16 kHz. The total SPL in dB(Lin), is 90+F dB. Compute the SPL in the octave band of 1 kHz :

L1kHz  =                                 dB 

3) A microphone has a sensitivity of 40+F mV/Pa. Compute the RMS voltage produced when the microphone is exposed to a sound pressure level of 100+E dB
VRMS =

      
      Volt
4) A reverberating room is (5+D) meters long, (3+E) meters wide and (2+F) meters tall; compute the average absorption coefficient , knowing that the reverberation time T20 is 6+F/2 s. 














 = 


    
5) In the reverberating room of the previous exercise, a sample with a surface of 10+E/5 m2 is inserted. Compute the unknown value of its absorption coefficient x, knowing that the new value of the reverberation time T20 is 2+D/10 s.
x = 


    
6) The wall of a factory is everywhere heavily insulating and perfectly reflecting, except for a small, open venting window, close to the reflecting ground, measuring m 1+D/10 x 1+E/10. The noise coming out of the window propagates in free field to a receiver, which is located at a distance d of 50+F m. Compute the SPL at the receiver, knowing that the SPL measured just outside the window is 80+F dB(A).



SPL =


   dB(A)

Note: each correct answer gives 5 points (tolerance: +/- 0.5 dB, +/- 5%).
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